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3. () In a triangle abe, |ab| = 8¢

@ ® Sem, Jac| = 11em and A= 113", Find |5
(i) In a triangle abe, a =9, =12 and B =105", Find 5,
(iil) In a triangle abe, [ab|

4. Find the measure of the smallest =

5. Use the information in the given

diagram 1o find e
@) Jacl, correet 1o the nearest ¥
integer. o N§
Use this length of [ac] 1o find
(ii) |abc], correct to the nearest 4
degr nen)
f2em
¥

6. Find the value of cos £ bac in
the given triangle.

7. In the given quadsilateral abed

" Tom o
,,
lab] = Scm, [be|=6cm, [cd|= -
6cm, [Zabe = 120° and | Sem,
(i) Jac| bom
(ii) area of Aabe
(i) area of quadrilateral abed. Y

. The diagram on the right shows
the flight path of an aircraft from
8104, a distance of 200 km in the
ditection NS2'E. The aireraft
then flew a further 160 km in the
direction S36°W 1o the point e.

Wiite down [ gae] and use this to
calculate [ge], correct to the near-
est km
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Some of the following questions will involve the use of the Sine Rule as well as the

Cosine Rule

9. In the given triang]
= 43m, |sr| =2
Lisr| =112 B

s

Caleulate
(i) r, corret to one de
(ii) | £1rs], correct to the ne
(iii) the shortest distance from s to

cimal place
arest degree
[1r], correct to one decimal place.

10. pgrs is a quadrilateral
Using the data in the diagram find
| prl correct to the nearest integer.
Use this value of |pr] to calculate
|£psrl.

11. The dimensions of the figure
shown are given in metres.

Calculate the area of the figure
abed, correct to the nearest
square metre.

12. In the given diagram pr is perpen-
dicular to s, |gs| =30m, |pg|= 20m
20m and |Zpgs| = 110°,

Caleulate, correct to three signifi- q
cant figures
@) Ipsl (i) lrl-

13. In the triangle pqr, see diagram,
|pgl =5, Irs| =11,

»
|2par| = 649", | £asp| =30" 7‘
Calculate | ps| and [pr|- %
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Miscellaneous Exercises 15 ____
o () 1Fsin A4 = 0:5678, ind o values for 4, i
(ii) 1 sin A = 5 and cos B= {5, find in the form "
J the value of sin(4 +
i) I the diagram

axLxc, |ab|=7cm, [be| [
?h
(b) Given  |bd|=|de| ~ and
-

2. (a) In the given di
ntre of the circle of radius
21cm, Taking 7= 7, find
the difference in length be-
tween the chord [ab] and
the minor arc ab.
Jad| =8, as shown. A
It |abd|=60°, |¢bda]
o
calculate, correct to the
nearest integer b "

(i) [bd]|
Use this answer to find v
(i) [ac]

3. (a) If the area of the given tri-
angle is 22-3cm’, find the 6
angle A, corret o the near-
est degree.

LED

(b) If tan A =1 and 0° < A < 90", find cos A without using tables or a calculator.

»
(© In the triangle pr, |pg| =16,
|gr| = 10 and |Zprq| = 106° &
Calculate | rpg, correct to the nearest
degree. /
b 0
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30° and the area of
12em

(i) The length of the arc ab in the given
circle is 8:§cm, and the radius [0b] =

6em.
Find the measure of the angle .

(i) In the acute angled triangle abc, [ab| = 12 cm, |

Find, to the ncarest degree, |/ ach|.

te down the value of sin 607,

r <0 <360

calculate, correct to

=3

>

6 () In the given diagram, aob and cod are straight lines.

Area of Aaod

Find the raio, 28 92004

(i) If cos A
calculator.

B
 find sin(A + B) without using tables °"

o e

@ s,
b

14 cm and | £abe| =

1.

|
1‘.




